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THMSEETEE GEMR) RLAE

% L] Hg - BIRHE BfL g i = # wm oz
EZAEE 4,290, 663
HEE 4,290,663 x 72.4% — 7,103 3,099, 337
HEEEE 4,290,663 + 3,099, 337 7,390, 000
PE 3T 7,390, 000
HERSHNE 7,390,000 x 10.00% 739, 000
HEXBE 7,390,000 + 739,000 8,129, 000




BERRE

THSFETEE FEhX) RLAE

4 [ R - BRTiE By = i | i
EiEHEE 4,290, 663
AEER 4,290, 663
REAE 4,290, 663
REAE 2,945,434
BB 623, 741
1 HEER 1.00 463,792 463,792
Ey
2 HEREE 28] (BFHA - ®AED) 1.00 159, 949 159, 949
=
KEAE 1,125, 692
ISHBETAb 2[E (B - ) 1.00 444, 764 444, 764
Ey
4 FEARO ATX (FH - B 22.20 10, 380 230, 436
km
5 FEAIFQ CIX (FH - ) 43. 40 10, 380 450, 492
km
RE 1,196, 001
6 |MEEHERD 1.00 1,196, 001 1,196, 001
=
STHRBIE 1,245,229
HESAE 320, 996
T ELBE 20 (FH - B 1.00 160, 652 160, 652
=
8 WENEESRE 24.00 6, 681 160, 344
=
STHRBIE 626, 489




BEANRE SFNSEE TS (FBR) B

% R B - K& B % B B @ ® & m o=

9 METAIED ATX (FH - #E) 5.00 30, 710 153, 550
km

10 #itwrBlEQ CIX (F# - ) 3.40 30, 710 104, 414
km

11 #erBED ATX (FH - 7 1.60 61, 421 98, 273
km

12 #ERBEQ CIX (F# - ) 4.40 61, 421 2170, 252
km

[ 297, 744

13 HRESERD 48.00 6,203 297, 744

1T

EEZE 100, 000

R 100, 000

14 EBEBRRR 1.00 100, 000 100, 000

=




Rifiz -/ \v7r—o

THSEE TS (HBMR) RLHE

&5 1
2 BEEERE =1
£ 7 R - BIRTE BARL 2 B Of | W E B &
BlEFEHED
A 2.00 51, 000. 00 102, 000
B S HER
A 5.00 44,000. 00 220, 000
B = H AR
A 4.00 34, 300. 00 137, 200
AR =L NOY
% 1.00 459, 200. 00 4,592
= 5 1E%HeH - 1.00K 463, 792. 00 463, 792
&5 :2
L5 HAIER 20 (B - D) =1
£ 7 R - BIRTiE BAGL 2 B Of o W E B =
BIEHEE
A 4.00 217,000. 00 108, 000
Sy 2tiE
B 2.00 25,183. 00 50, 366/4. 70H / 8H
AR =L NOY
% 1.00 158, 366. 00 1,583
= 5 1E%HeH - 1.00K 159, 949. 00 159, 949




Rifiz -/ \v7r—o

THSEE TS (HBMR) RLHE

H#5:3
LR REETRA N 20 (FH - #E) X2y
% FR A& - IR B 2 B bl = w =
XEE S EAAV!
= 2.00 3,252.00 6,504 2. 00H / 8H
8 FAm
A 2.00 44, 000. 00 88, 000
SRR
A 2.00 34, 300. 00 68, 600
REBF
A 2.00 32, 200. 00 64, 400
RIE M FRP D 70PSZ!
= 2.00 71,597.00 143,194 8H
GNSSRINTSEE DGNSS
= 2.00 25, 575. 00 51,150
BERTE 17518 100kHz
= 2.00 9, 256. 50 18,513
MM EXENOY
% 1.00 440, 361. 00 4,403
a & 1E5AEH : 1. 00K 444, 764. 00 444,764
%2 4
£ BEMED AR BH - 8 1HZY (24.8km)
% FR & - IR B 2 B bl IS w =
RXEE S EAAV!
= 1.00 3,252.00 3,252 2.00H / 8H
RIE M FRP D 70PSZ!
= 1.00 71,597.00 71,597 8H
8 FAm
A 1.00 44, 000. 00 44, 000
B SRR
A 1.00 34, 300. 00 34, 300
REBF
A 2.00 32, 200. 00 64, 400
GNSSRINTSEE DGNSS
= 1.00 25, 575. 00 25,575
BERTE 17518 100kHz
= 1.00 9, 256. 50 9, 256
MM =3OV
% 2.00 252, 380. 00 5,047
& F Y288 : 24.80km 10, 380. 00 257, 427




Rifiz -/ \v7r—o

THSEE TS (HBMR) RLHE

55
2% BEAFEQ IR (FH - ) 1BEY (24.8km)
£ 7 R - KT By = B Of | W E B &
TEE S4 kY 2L
B 1.00 3,252.00 3,252/2.00H / 8H
B FRP D 70PSZE!
B 1.00 71, 597.00 71,597 8H
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBNF
A 2.00 32, 200. 00 64, 400
GNSS;BIf 2 & DGNSS
B 1.00 25,575. 00 25,575
BRI 1AM 100kHz
B 1.00 9, 256. 50 9, 256
AR L NOY
% 2.00 252, 380. 00 5,047
= 5 YEZRES 1 24.80km 10, 380. 00 257,427
&5 :6
2 |ES4ERD 1LY
£ 7 R - KT By = B Of | W E B =
BlEFEHED
A 3.30 51, 000. 00 168, 300
B S HER
A 11.00 44,000. 00 484, 000
B = H AR
A 11.00 34, 300. 00 377, 300
BIEBNF
A 4.80 32, 200. 00 154, 560
AR =L NOY
% 1.00 1,184, 160. 00 11, 841
= 5 1YE%HeH - 1.00K 1,196, 001. 00 1,196, 001




Rifiz -/ \v7r—o

THSEE TS (HBMR) RLHE

&5 .17
¥ PELEE 2@ (FH - ED 1LY
£ 7 R - KT By B = B Of | W E B &
TEE S4 kY 2L
=] 1.20 3,252.00 3,902 2.00H / 8H
BlEFEHED
A 1.20 51, 000. 00 61, 200
B S HER
A 1.20 44,000. 00 52, 800
B = H AR
A 1.20 34, 300. 00 41,160
AR L NOY
% 1.00 159, 062. 00 1,590
& B 1EZBER - 1.00 160, 652. 00 160, 652
%5 :8
B WERELRE 1AEY (17.6:1)
£ 7 R - KT By B = B Of | W E B =
TEE 5S4 kY 2L
=] 1.00 3,252.00 3,252 2.00H / 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 1.00 32, 200. 00 32,200
A 3x3x50cm
X 17. 60 152. 00 2,675
AR L NOY
% 1.00 116, 427. 00 1,164
& B {EZBERN : 17.60= 6, 681. 00 117, 591




Rifiz -/ \v7r—o

THSEE TS (HBMR) RLHE

59
2% MEAED AR (FH - ) 1TH&HY (4.8km)
£ 7 R - KT By = B Of | W E B &
TEE S4 kY 2L
H 1.00 3,252.00 3,252 2.00H / 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR L NOY
% 1.00 145, 952. 00 1,459
& B 1E%HEH :4.80km 30, 710. 00 147, 411
H5:10
2% MEAEQ® CIRX (FH - ) 1TH&HY (4.8km)
£ 7 R - KT By = B Of | W E B =
TEE 5S4 kY 2L
H 1.00 3,252.00 3,252 2.00H / 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34,300
BIEBNF
A 2.00 32, 200. 00 64, 400
AR =L NOY
% 1.00 145, 952. 00 1,459
& B 1E%HEH :4.80km 30, 710. 00 147, 411




Rifiz -/ \v7r—o

THSEE TS (HBMR) RLHE

HE5 11
2% #BIAED AR (FH - ) 1TH&HY (2.4km)
2 Lo R - KT By = B ff | W E H %
REBE 54 kY 2
A 1.00 3,252.00 3,252 2.00H / 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBNF
A 2.00 32, 200. 00 64, 400
Mo 2RD%
% 1.00 145, 952. 00 1,459
& B 1E%HBEN : 2.40km 61,421.00 147, 411
&HE 12
2% EIAEQ® CIRX (FH - ) 1TH&HY (2.4km)
2 Lo R - KT By = B ff | W E w %
REE 54 kY 2
=] 1.00 3,252.00 3,252 2.00H / 8H
B S HER
A 1.00 44, 000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBNF
A 2.00 32, 200. 00 64, 400
Mo 2RD%
% 1.00 145, 952. 00 1,459
& B 1E%HBEN : 2.40km 61,421.00 147, 411




Rifiz -/ \v7r—o

THSEE TS (HBMR) RLHE

H5:13
2 MESERO 1004&HrE 2 Y
2 Lo R - KT By = B ff | # H %
BlEFEHED
A 1.00 51, 000. 00 51, 000
B S HER
A 3.00 44, 000. 00 132, 000
B = H AR
A 6.00 34, 300. 00 205, 800
BIEBNF
A 7.00 32, 200. 00 225, 400
Mo 2RD%
% 1.00 614, 200. 00 6, 142
& B {EZBEA : 100. 0% B E 6, 203. 00 620, 342
H5: 14
B EBHRSR 1Xzy
2 Lo R - KT By = B ff | # w %
(BHERE
= 1.00 100, 000. 00 100, 000
& it EZBER - 1.00 100, 000. 00 100, 000




